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E=SFE =N (BT +TCEEMIERER)
HEEUEE SEMBRARE
Tk 30E3831HIRE
(BEfi7 : M)
EERIE REREE = AEPERSIEE EEXDET
BEEDER
TRBNEREE 11, 496, 823 11, 496, 823 11, 496, 823
IHEIES 11, 496, 823 11, 496, 823 11, 496, 823
BEEEE 74, 841,030 74, 841,030 74, 841,030
EURBARE 1,693, 901 1,693, 901 1,693, 901
B 1,693, 901 1,693, 901 1,693, 901
ZOMOEEEE 73,147,129 73,147,129 73,147,129
k=27 1,420, 771 1, 420, 771 1, 420, 771
1BEEYD 61,712 61,712 61,712
EHimERE 2,278, 860 2,278, 860 2,278, 860
EENMEmm 3, 355, 286 3, 355, 286 3, 355, 286
VIRNIT7 846, 000 846, 000 846, 000
NG BB EE 31,842, 780 31, 842, 780 31, 842, 780
(EfEBETB & 27,000, 000 27, 000, 000 27, 000, 000
BREBABTERE 6, 341, 720 6,341,720 6, 341,720
BEEOIEET 86, 337, 853 86, 337, 853 86, 337, 853
=10
TENBE 745, 576 745, 576 745, 576
BEXRINE 0 0
BEENE 745, 576 745, 576 745, 576
[Eha=l= 0 0
BE085ET 745, 576 745, 576 745, 576
FEEDES
BEAE 2,015,990 2,015,990 2,015,990
EE#HEFSETLS 1,979, 724 1,979, 724 1,979, 724
ZOMOIEILE 65, 184, 500 65, 184, 500 65, 184, 500
ANEEEIE 31,842, 780 31, 842, 780 31, 842, 780
(EFEBEBE 27,000, 000 27, 000, 000 27, 000, 000
BREBARBILE 6, 341,720 6,341,720 6,341,720
IR AR R B R = EE 16, 412, 063 16,412, 063 16,412, 063
(OELEEENERAZE) 2,559, 732 2,559,732 2,559,732
HEEDISET 85,592, 2717 85, 592, 277 85, 592, 277
BERMEEOESET 86, 337, 853 86, 337, 853 86, 337, 853
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